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4.3 x50% = 1.04 x 70% =
0.32 x 30% = 1.34 x 60% =
4.44 x 80% = 2.71 x30% =
4.02 x40% = 7.35 x 60% =
7.82 x20% = 5.86 x 20% =
1.31 x70% = 278 x 90% =
7.74 x 60% = 6.77 x 20% =
2.05 x90% = 1.25 x70% =
1.07 x 30% = 2.88 X 80% =
3.94 x 40% = 5.01 x90% =
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4.3 x50% = 2.15

0.32 x 30% = 0.096

4.44 x 80% = 3.552

4.02 x 40% = 1.608

7.82 x20% = 1.564

1.31 x70% = 0.917

7.74 < 60% = 4.644

2.05 x90% = 1.845

1.07 x 30% = 0.321

3.94 x 40% = 1.576

feiep:

1.04 x 70% = 0.728

1.34 x 60% = 0.804

2.71 x 30% = 0.813

7.35 x 60% = 4.41

5.86 x20% = 1.172

2.78 x 90% = 2.502

6.77 x 20% = 1.354

1.25 x70% = 0.875

2.88 x 80% = 2.304

5.01 x 90% = 4.509
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